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QUIZ - MATH GRADE 11 SL

Evauate/Simplify
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(5%) Log,(32) = 6. (7%) Log(0.1) - Log(0.01) =
5%) L 1y
(5%) Ogg(E)— 7. (5%) 2Iogz(x)—1
(5%) Log ;5 (+/27) = 6. (5 2200
(5%) Log, (#) =
3 9. (5%) Log5(ln(?/5))
(8%)

Log, (36) + Logs (2) ~ Logy(8) = 10 (5%) Solver 37 = -2
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00 53X = —
11. (5%) Solve (25}

12. (15%) Solve: Log(%)+ Log(100x) =1

13. (10%) LetlogoP =X, 10g10Q =y, logioR = z. Express intermsof x ,y and z.
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14. (15%) Given the equation: Log, (g) —Log,(x+9) = %

a. (4%) Change the base of the second logarithm to 3.
b. (4%) Smplify the denominator of the second logarithm after the change of base.
c. (7%) Solvethe equation.



